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Code No.

T 4. wlenel Hie H ITYEH 5 TGI8
Roll No. W 3av ford |

Candidates must write the Code on the
title page of the answer-book.

o YA T H A Toh 30 Y91 H Gigd I8 11 2 |

o TH-UA H Tqfed &Y I AN fGu MU HIe T HI B IT-YRETHT o6 JE@-I8 W
g |

o FHUI I A foh 30 TG H 32T E |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh a9 ford |

o T TAUA I Ugd % fIW 15 e o1 v T T g | - Rl foa qatg
T 10.15 &1 TR ST@ | 10.15 S91 & 10.30 SIS I B hddd JIH-UF i TeTl
3T 39 AT & R o IT-YfEdh! T g I a1 fore |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

AT

ECONOMICS

FEiRa 77 : 3 T2 37ferhad 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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G) gl @vel & @4t yeT AT & |
(i)  FAF F97 & [HYRT 37 399 qrad Ru 1@ & |

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHIHS F97 &, 5779 J% &7 1 375 8 |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 97 T&IT 6- 10 37K 22 - 26 TGHIHF 97 &, 978 J9% & 3 3% & |
Tl H I GIHTT: 60 ¥sg] @ 37fer 751 T =y |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIET=TT: 70 V5G] & 3 T8 571 08T |

(vi) 397 &I 14-16 3K 30 - 32 FEIIHF I aIct J97 &, 1975 I9% &
6 7% & | I8% T I GII=a: 100 II5E @ 379 757 5471 F13T |

(vii) RIS (*) Jo7 GTeThRa 397 & |

(viii) I GG TIT TeIIcHF &4 TRT TIT IqEIYT FHR & T8 diar & Tt &
137 S =18 |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
*1,  ICUTE FHAT o HeH # fireqn < foar & Wi o7fYfeh Hou s AW FaTsy | 1

Name the economic value achieved through the spread of education in
the context of production potential.

2. 9% I " hI g i | 1
Define demand for a good.
3.  giEdl el % & 3erew A | 1
Give two examples of variable costs.
4.  F& ! qfd Pl Qi AEER e hHal Sl § ? 1
When is supply of a good said to be perfectly elastic ?
5. 3cTed 94 W 3fiHd for amTa = Hedl 8 2 1
Why does average fixed cost fall with increase in output ?
6.  1fd 3k o qfs TR fawer o fohmal g1 ST <Al =met SHifT | 3
Explain any two causes of a rightward shift in supply curve.
7. O IcUTEH B <l HHET AT 39 BT 8 ? THST, | 3
Why does the problem of ‘what to produce’ arise ? Explain.
8.  IUEH o YU T T T ANTd 1 IReherd SHIfTT 3
3cqTe (3hTsaT) 1 D 3 4 5 6
3ftaa giadt arma () 26 | 22 | 20 | 20 | 22 | 24

Calculate marginal cost at each level of output :

Output (units) 1 2 3 4 5 6
Average variable cost (%) | 26 | 22 | 20 | 20 | 22 | 24

9. T a%q I Hma ¥ 20 vkava g B9 & IWH Ifd 200 TS T TEHL 240
$hTS B AT 7 | 38R Ifd 1 hHd A" I aiehed HIT | 3

Supply of a good rises from 200 units to 240 units as a result of
20 percent rise in its price. Calculate its price elasticity of supply.
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YT
"M H “ghg” < TRmel I HRON 6l =TT HIT |

A and B are substitute goods. Explain the effect of rise in price of A on
the demand for B.

OR

Explain any two causes of “increase” in demand.

11. T 10 9fd SHTE sl HITd T Teh g%q ! AN AET 1500 3H1E 8 | SHehI [T i
I A (—) 1-58 | ST« 3Heh! higd =2t T 8 Ufd Skl &l STdl &, dl SEehl
T AT fohat Bt 2 Ufiteher hifsie | 4

AT

A1 b FHd A T Iiehad A 6l safidia e 6 samen hifse |

The quantity demanded of a good is 1500 units at the price of ¥ 10 per
unit. Its price elasticity of demand is (-) 1-5. Calculate its quantity
demanded, when its price falls to ¥ 8 per unit.

OR
Explain the geometric method of calculating price elasticity of demand.

12. T U iR ST9R <l &7 fmward sasy | 4
State the main features of a perfectly competitive market.

13. T IUNIRHI hadl g I3 T IUUT LT 3 IR dqe 8 7 | fewme fe w
&g <1 Hma TR w4 faulia graeg g 8 | Swnfian foweyor it g |
HHARY | 4

A consumer consumes only two goods and is in equilibrium. Show that
price and demand for a good are inversely related. Explain using utility
analysis.

14. YA T3 foweivor Sl TERIAr § TR o Hgad hl A& i | 6

AT
Teh IUNITHT hadl Gl I3l 1 ITHNT HLAT 3 | ITATTaT foweryor i ggrar 9
SYHITRT o T hi SATET T |
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OR

A consumer consumes only two goods. Explain consumer’s equilibrium
with the help of utility analysis.

15. R Sdid §Y IcHIGA 1 98 Tl 1A NG 8 T Icd1eeh ddo o feufa 4

B | (T T 3w S (Fufy) fafer 6w i) 6
3cqTEA (ShTeAT) 1| 2| 31| 4|5
Hd Ard (T) 21 | 39 | 54 | 72 | 93
F I () 18 | 36 | 54 | 72 | 90

Giving reasons find out the level of output at which producer will be in
equilibrium. (Use marginal cost and marginal revenue approach)

Output (units) 1 2 3 4 5
Total Cost () 21 | 39 | b4 | 72 | 93
Total Revenue (3) 18 | 36 | 54 | 72 | 90

16. T I%g b q(d AT 1 3 THSARY 3R 3Heh a&G ol hiAd, AT 3 qfd
T NS <l S[EAT I ST IR | (TG 1 J=1T i) 6

Explain the meaning of excess supply of a commodity and its chain of
effects on price, demand and supply of the commodity. (use diagram)

FiZ: AT 997 #act giegia aasmeer & o7 397 G897 16 % € W E |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 16.

Tsh IE] h Gd AR 1 37 THATEY TR 8k &g hi shida, A1 R qfd
T GHTET Sl TG Shi ST ShIT | (ATt T T=TT HINT)

D

Explain the meaning of ‘excess supply’ of a commodity and its chain of

effects on price, demand and supply of the commodity. (use a schedule)
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SECTION B
17. et aeged & g e i | 1
Give two examples of intermediate goods.
18. A <t gftwrt dife | 1

Define investment.

19. &Y SHIC =1 Bidl @ 2 1

What are time deposits ?

20. YT HL AT BT & ? 1
What is a direct tax ?

21. TTHM oo T EAT B ? 1
What is a government budget ?
22, Tyam U 1 A WS, | FHHRT AW IR AfUhAH [eI FN B FhaT 2 ? 3

Explain the meaning of investment multiplier. What can be its

minimum and maximum value ?

23. AW HdeH @Md o 90 @A IR YT @Td # $9h =i o IR T 4G
SIS | 3

Distinguish between current account and capital account of the balance
of payments account on the basis of its components.

24. 3T & ThI¥ YATE hl SATEAT hINT | 3

Explain the circular flow of income.

25. g % Tod H99 HIY i AT HIT | 3
arera
“TTHR o U o T H hrold S hl YT hl SATEAT HINT |
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OR

Explain the role of central bank as a “Banker to the government”.

26. 3Hd S9d Ygfd 1 A FARY | Ad ITHN TG ok Y THRT FAT HEH
21 8 2 3

Give the meaning of average propensity to save. What is its relation
with average propensity to consume ?

27. TSy o @@ fAmio fFg YR a8 ? Us 3QEr Rl HEEdr 9

HHATRT | 4
e

G TR & HrESANT H1 31 THARY | Hegd S g7 qfd 1 FRGE w0 *

T g9ehT SR Y LT B 2

How do commercial banks create credit ? Explain with the help of an

example.
OR

Explain the meaning of open market operations. How is it used by the
central bank to control money supply ?

28. T=fcifga stihel @ “Hre @ra W fae qed wgfg” 1 aiehad i : 4
(& arEl 4)
(i)  HeFadt JUH 300
(i) I | giEdd 50
(i) Taa T 70
(iv)  Tershl 500
(v)  oT9d Yoft T ITHMT 20
(vi) 3ATd 40
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(T in Lakhs)
1) Intermediate consumption 300
(11) Change in stock 50
(iii)  Net indirect taxes 70
(iv) Sales 500
(v)  Consumption of fixed capital 20
(vi) Imports 40
*29, hrold o fageft ggr i Hma g4 W FRE e & folu %en I3 B |
TS 390 -8 ATMh Yo MM & S T 3T et § Fxafea 7 | 4

The central bank takes steps to control rise in the price of foreign
exchange. Explain the economic values it involves as far as the common
man is concerned.

30. “Haftrer YAIST W I URheH hHINT : 6
(T #isl 5)
(i) 7o & = S ara | fHaw
< 3IcaTg | Al T 700
(i) T 40
(i) TocE @ faa &R o™ (=) 20
(iv) HoasE 50
(v) fsht famfia & <hi == 150
(vi) ETHR ¥ 7] T 80
(vii) TEH R0 9 A 60
(viii) aRER grT feu T yeger o 70
(ix) T =t fae <oy s&aiaw (-) 10
T
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(¥ #isl H)
()  Faa i gEt Fmio 150
(i) TNl AT ITHT = 300
(iii) focEn & fFad s =™ (=) 20
(iv) Tsht erfeam 3o = 600
(v)  HeIgE 30
(vi) Taa fria 50
(vii) Troe scaa =t 90
(vii)) 39 fava & faa =me gearaw 40

Calculate “Personal disposable income” :

(< in Crores)

1) Net domestic product at factor cost

accruing to private sector 700
(i1)  Corporation tax 40
(iii)  Net factor income from abroad (=) 20
(iv)  Depreciation 50
(v) Savings of private corporate sector 150
(vi)  Current transfers from government 80
(vii)) National debt interest 60
(viii) Direct taxes paid by households 70
(ix) Net current transfers to abroad (=) 10

OR
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(< in Crores)

150

(i1)  Government final consumption expenditure 300

(iii) Net factor income from abroad (=) 20
(iv)  Private final consumption expenditure 600
(v)  Depreciation 30
(vi)  Net exports 50
(vii) Net indirect taxes 90
(viii)) Net current transfers from rest of the world 40

81. (1) wHY i IR THY A & = TR T3 |

(§) U Adeger & R fou M f=fafied sAeel ¥ 3Eehl 3™ %

FITH T T TReheH I ;

() Hud I IR = 0-8
(i) e = 5000
(i) T ITHA = 500

(a)  Distinguish between Aggregate Demand and Aggregate Supply.

(b) From the following data about an economy, calculate

equilibrium level of income :

(i)  Marginal propensity to consume = 0-8

(1)) Investment

(i1i) Autonomous consumption
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HIfT | 6

Explain the objectives of resource allocation and income distribution in a

government budget.
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